Targeted Application of the Work Design Questionnaire Using Self-Determination Theory to Generation Z

Michaela HEŘMANOVÁ^{*}, Michal PROKOP, Kateřina KURALOVÁ, Lucie KVASNIČKOVÁ STANISLAVSKÁ, Ladislav PILAŘ and Martina FEJFAROVÁ

Czech University of Life Sciences Prague, Prague, Czech Republic; hermanovam@pef.czu.cz; mprokop@pef.czu.cz; kuralova@pef.czu.cz; kvasnickova@pef.czu.cz; pilarl@pef.czu.cz; fejfarovam@pef.czu.cz

* Corresponding author: hermanovam@pef.czu.cz

Abstract: Questionnaire surveys measuring job satisfaction at the workplace are relatively very popular and widely used methods in most organizations. Experienced methods that are still used for the current working generations may not be so effective for the upcoming Generation Z. This generation is impatient, distracted, easily lose focus and patience, and dependent on digital technologies. The main goal of the article is therefore to identify the possibility of shortening the Work Design Questionnaire (WDQ), based on the use of subareas of self-determination theory (SDT) for the needs of generation Z. Furthermore, a comparison of whether filling in both versions of the questionnaire (standard and shortened according to the SDT) will have the same indicative value. The research is based on a quantitative questionnaires were then compared at the level of sub-parts (autonomy, competence, relatedness) by comparing the average values of the recorded answers by Wilcoxon rank. The results indicate that the WDQ can be shortened in the areas of autonomy and competence, while in area relatedness this possibility has not been proven.

Keywords: Work Design Questionnaire; Self-determination theory; generation Z; job satisfaction, motivation

JEL Classification: M12; M54

1. Introduction

One of the most important tools for the comprehensive measurement of job satisfaction in the last few decades is the Work Design Questionnaire (WDQ). Morgeson and Humphrey (2006) summarized all the shortcomings of existing questionnaires (their over-generality or, conversely, their over-specificity) and created a new, compact, comprehensive questionnaire called WDQ. This tool has been validated in different contexts and countries, such as Germany (Stegmann et al., 2010), Brazil (Borges-Andrade et al., 2019), France (Bertolino et al., 2011), the Netherlands (Gorgievski-Duijvesteijn et al., 2016) and the Czech Republic (Procházka et al., 2020). The questionnaire aims to learn from the mistakes of previous questionnaires and to be a relevant method for measuring job characteristics and job satisfaction. The questionnaire identification resulted in 21 constructs, which were also

identified as factors of the WDQ method (Morgeson & Humphrey, 2006; Bayona et al., 2015; Fernández et al., 2017). However, this guestionnaire is often criticized for its length (Marcus et al., 2007; Liu & Wronski, 2018). For completing the WDQ requires a significant time. This time span is estimated at 15 minutes and contains 77 items divided into 21 factors (Morgeson & Humphrey, 2006). Completing such a long questionnaire can easily lead to problems with measuring the quality of responses (Podsakoff et al., 2003). In practice, these effects can manifest as fatigue, which respondents may feel towards the end of completing the questionnaire, leading to consistent responses regardless of what the questions are about (Krosnick, 1999; MacKenzie & Podsakoff, 2012). As a result, conducting lengthy questionnaires against such a background may have an adverse effect on the quality and quantity of responses provided (Baumgartner & Steenkamp, 2001). And precisely its length can become a problem when applying it within the framework of testing Generation Z. These are people who were born between 1995 and 2009 (Berkup, 2014) and are therefore descendants of Generation X (Husák's children). Their perception of life is completely different from the perception of their parent's life perspective. Between these generations, there is a noticeable difference in the understanding of life satisfaction, as well as work satisfaction. Generation Z, unlike the previous generation and their parent's generation, places greater value on personal life, which they do not intend to sacrifice at the expense of work (Parment, 2013; Chillakuri, 2020). This generation is currently beginning to become economically active people. From the point of view of the employment relationship, they create most of those entering the labor market (Bennett et al., 2012). Concurrently their part in the labor market will increase yearly (ČSÚ, 2020). Kubátová (2016) lists the three most important work aspects of Generation Z, which are: opportunities for career growth, the need for more money and meaningful work. Their frequent requests are flexible working hours, part-time work, and the possibility to work from home or remotely online. Compared to previous generations, they have greater demands on employers, the work environment and the collective, especially a sense of personal fulfillment and motivation, which people previously did not place emphasized at all (Lissitsa & Kol, 2016). Generation Z has already been born into the digital world, they have no memory of life without access to the Internet (Reinikainen et al., 2020). For this reason, they take technology for granted, and all their activities or actions must correspond to the speed of the Internet. Therefore, all must be easy and fast (Van der Goot et al., 2016). Because they are versatile and broadly oriented, one of their main features is a reduced ability to pay constant attention, both in everyday life, at work, and on a concrete task or assignment (Ding et al., 2017; Poláková & Klímová, 2019). They are also impatient and prefer to get information quickly (Cruz, 2016).

The tool for solving the questionnaire length can be the Self-Determination Theory (SDT). Cross-sectionally, SDT coincides with this complex tool. The theory is represented by a set of several smaller theories where the main objective is to motivate people through the fulfillment of basic needs. (Buttitta et al., 2017; Chen et al., 2019; Deci & Ryan, 2000; Gyllison et al., 2008). Based on substantial research, autonomy, competence, and relatedness are considered universal, not dependent on age, origin, culture or gender (Chen et al., 2015). According to Deci and Ryan (2000), these are autonomy, competence, and relatedness, which

fully correspond with the core features of the WDQ questions (Humphrey et al., 2007). Criticism directed at the theory is most often in the form of focusing only on internal motivation, not on general motivation, as is the case with most authors (Gagné et al., 2015).

Developing a shorter instrument that is easier to administer and quicker to answer will contribute to improving the construct validity of the questionnaire. Also, improve the adequacy of the obtained data for subsequent analysis and interpretation. In this regard, it would seem appropriate to shorten the WDQ to facilitate its future use (Marcus et al., 2007; Liu & Wronski, 2018). Therefore, a shortening of the questionnaire based on SDT is proposed, by the main three pillars of human motivation are autonomy, competence, and relatedness (Ryan & Deci, 2006).

The aim of the study is to identify the possibility of shortening the WDQ, based on the use of sub-areas of SDT for the needs of generation Z. The study will use 8 factors for the truncated version of the questionnaire, which contains 31 items, instead of the original ones in the original wording of the questionnaire 21 factors and 77 items. These are especially those factors/items that describe the SDT and its essence, so these are items that deal with the areas of autonomy, competence and relatedness.

2. Methodology

The research described in this study was based on a questionnaire survey. Data collection was carried out in a selective manner. The method used was the WDQ questionnaire measuring job satisfaction, which is standardized and translated into the Czech language (Procházka et al., 2020). The WDQ questionnaire measures job satisfaction on a 5-point standardized scale in the form of "strongly disagree", "disagree", "don't know", "agree", and "strongly agree". Two versions of the WDQ questionnaire were compared in order to verify the mutually equal indicative value of the responses of the results. The classic long (standard version) and the shortened version, which is based on SDT theory. Each respondent completed the full (standard) version of the questionnaire. Answers for the short version of the questionnaire were extracted from the standard long version, based on the agreement of the list of required factors with SDT theory. These questions focus on issues related to autonomy, competence, and relatedness. For the abbreviated version of the autonomy research (Section A), only three factors (F1, F2, F3) were used instead of the original seven factors. These three selected factors contain 9 items (WDQ1, WDQ2, WDQ3, WDQ4, WDQ5, WDQ₆, WDQ₇, WDQ₈, WDQ₉) which clearly relate to the area of autonomy. The selection of questions from the field of competence (section B) took place according to Kane (1992), in problem solving, the composition of the diversity of skills and specialization. This area is represented by three factors (F10, F11, F12), instead of the original five factors. They contain 12 items (WDQ33, WDQ34, WDQ35, WDQ36, WDQ37, WDQ38, WDQ39, WDQ40, WDQ41, WDQ42, WDQ₄₃, WDQ₄₄). The relatedness factor (section C) was selected from the WDQ questionnaire based on the social factor according to Granzier et al. (2021) in the form of two factors (F13, F16) from the original five factors. These are social support and cooperation outside the organization and are represented by 10 items (WDQ45, WDQ46, WDQ47, WDQ48, WDQ49, WDQ₅₀, WDQ₅₇, WDQ₅₈, WDQ₅₉, WDQ₆₀). Out of a total 21 factors that are included in the standard scope of the questionnaire, the above-mentioned eight factors were selected, which have 31 items. The selection of factors, and thus also the items of the WDQ questionnaire, is based on satisfactory researched areas that significantly coincide with the elements of the SDT theory and at the same time with a targeted shortening of the questionnaire (Marcus et al., 2007; Liu & Wronski, 2018).

The research population consisted of 395 respondents from Generation Z, active students or graduates of the Czech University of Life Sciences Prague. Addressing the graduates was conditional on their date of graduation, in order to the respondent belong completely into generation Z. Their belonging to Generation Z was verified in the second phase, where all respondents were asked about their year of birth as part of a questionnaire survey. The data for this study were collected from employees working in various sectors, regardless of their length of employment in the given organization or the scope of their employment. The employees were contacted by e-mail, where they were initially informed about the purpose of the survey, including the form of the questionnaire and a brief introduction to the issue. The LimeSurvey online application (LimeSurvey, 2020) was chosen for the survey. Data were collected between March 2020 and May 2020. IBM SPSS Statistics (IBM, 2022) and Jamovi (Jamovi, 2020) software were used to test the predicted outcome.

Cronbach's α statistical method was used to initially determine whether the entire WDQ questionnaire and its shortened version have a sufficient degree of internal consistency and reliability. Conformational factor analysis verified the validity of the questionnaires, and whether the questionnaires were used correctly. The aim of the study is to find out whether the long and short versions of the questionnaires work the same. Based on the findings, the long version of the questionnaire can be replaced by a short version, from which the following hypothesis, which are intended for each section separately follows:

- H_{0A}: The average values of the answers in the section A of the questionnaire do not differ between the short and long versions.
- H_{1A}: The average values of the answers in the section A of the questionnaire differ between the short and long versions.
- H_{0B}: The average values of the answers in the section B of the questionnaire do not differ between the short and long versions.
- H_{1B}: The average values of the answers in the section B of the questionnaire differ between the short and long versions.
- Hoc: The average values of the answers in the section C of the questionnaire do not differ between the short and long versions.
- H₁c: The average values of the answers in the section C of the questionnaire differ between the short and long versions.

The hypothesis was evaluated at 5% significance. The normal distribution of the data was tested using the normality test (Shapiro-Wilk test). Based on the results of normality Wilcoxon rank was subsequently used for testing differences.

3. Results

3.1. Section A

Based on the Crombach α test, an adequate degree of internal consistency and reliability was demonstrated for both questionnaires. For the short version the scale was 0.847, and for the long version 0.836. As evident from Table 1, the confirmatory factor analysis confirms the factors with an adequate degree of internal consistency and reliability (*p*–value = <0.001). At the same time, the RMSEA value (0.0384) indicates a very good quality of the long version of the questionnaire. The questionnaire is therefore in order from the point of reliability and psychometric properties.

Factor	Indicator	Estimate	SE	Z	р
Factor 1	WDQ 1	0.693	0.0492	14.08	< .001
	WDQ 2	0.798	0.0513	15.56	< .001
	WDQ 3	0.748	0.0498	15.02	< .001
	WDQ 4	0.663	0.0491	13.51	< .001
Factor 2	WDQ 5	0.734	0.0489	15.01	< .001
	WDQ 6	0.752	0.0477	15.78	< .001
	WDQ 7	0.692	0.0560	12.34	< .001
Factor 3	WDQ 8	0.844	0.0524	16.09	< .001
	WDQ 9	0.774	0.0508	15.23	< .001
	WDQ 10	0.823	0.0486	16.93	< .001
Fastor 4	WDQ 11	0.881	0.0457	19.29	< .001
Facior 4	WDQ 12	0.963	0.0471	20.44	< .001
	WDQ 13	0.898	0.0441	20.35	< .001
	WDQ 14	0.844	0.0615	13.72	< .001
Factor 5	WDQ 15	0.879	0.0489	17.97	< .001
	WDQ 16	0.798	0.0491	16.24	< .001
	WDQ 17	0.711	0.0574	12.40	< .001
	WDQ 18	0.440	0.0593	7.42	< .001
Fastor (WDQ 19	0.712	0.0512	13.90	< .001
Factor 6	WDQ 20	0.851	0.0466	18.28	< .001
	WDQ 21	0.782	0.0435	17.95	< .001
	WDQ 22	0.648	0.0492	13.16	< .001
Factor 7	WDQ 23	0.802	0.0484	16.58	< .001
	WDQ 24	0.804	0.0463	17.35	< .001

Table 1. Confirmatory Factor Analysis for section A

The established hypotheses (H0A and H1A) were verified based on the process of partial following steps, see Table 2. A normality test (Shapiro-Wilk) revealed that the data did not have a normal distribution (p-value = <0.001). Therefore, the Wilcoxon rank was subsequently used, which, based on the resulting value, confirmed that the averages of both versions of the questionnaire are the same (p-value = 0.166), therefore H0A at the 5% level of significance is accepted.

	Short version (A)	Long version (A)	
Mean	3.61	3.59	
Median	3.67	3.58	
Standard deviation	0.695	0.485	
Shapiro-Wilk W	0.984	0.984	
Shapiro-Wilk p	< .001	< .001	
Wilcoxon W	0.166		

Table 2. Descriptive statistics and Paired Samples T-Test for section A

3.2. Section B

Both, the short and long versions of the questionnaires have an adequate degree of internal consistency and reliability. Crombach's α for the short version is 0.885 and for the long version is 0.804. Table 3 below shows, the confirmatory factor analysis confirms this statement (*p*-value = <0.001). The very good quality of the long version of the questionnaire is supported by the RMSEA value of 0.0807. The questionnaire is therefore in order from the point of reliability and psychometric properties.

Factor	Indicator	Estimate	SE	Z	p
Factor 1	WDQ 25	0.250	0.0638	3.92	< .001
	WDQ 26	1.056	0.0481	21.97	< .001
	WDQ 27	1.053	0.0485	21.70	< .001
	WDQ 28	0.926	0.0513	18.05	< .001
Factor 2	WDQ 29	0.788	0.0506	15.56	< .001
	WDQ 30	0.790	0.0505	15.63	< .001
	WDQ 31	0.507	0.0481	10.53	< .001
	WDQ 32	0.923	0.0525	17.59	< .001
5	WDQ 33	0.592	0.0613	9.66	< .001
	WDQ 34	0.964	0.0578	16.67	< .001
Factor 3	WDQ 35	0.589	0.0546	10.77	< .001
	WDQ 36	1.035	0.0539	19.20	< .001
Factor 4	WDQ 37	0.695	0.0487	14.28	< .001
	WDQ 38	0.843	0.0483	17.45	< .001
	WDQ 39	0.887	0.0556	15.96	< .001
	WDQ 40	0.995	0.0478	20.82	< .001
Factor 5	WDQ 41	0.956	0.0517	18.48	< .001
	WDQ 42	0.926	0.0514	18.01	< .001
	WDQ 43	1.084	0.0484	22.40	< .001
	WDQ 44	1.001	0.0532	18.80	< .001

Table 3. Confirmatory Factor Analysis for section B

The established hypotheses (H0B and H1B) were verified based on the process of partial following steps, see Table 4. The normality test (Shapiro-Wilk) indicates that the data of the short version of the questionnaire does not have a normal distribution (p-value = 0.028). The long version of the questionnaire has a normal data distribution. Because the result for the short version indicates that the data do not have a normal distribution, the Wilcoxon rank was subsequently used. The test result indicates that the averages of both questionnaires are the same (p-value = 0.840), therefore H0B at the 5% level of significance is accepted.

	Short version (B)	Long version (B)	
Mean	3.23	3.24	
Median	3.25	3.25	
Standard deviation	0.777	0.531	
Shapiro-Wilk W	0.992	0.994	
Shapiro-Wilk <i>p</i>	0.028	0.117	
Wilcoxon W	0.840		

Table 4. Descriptive statistics and Paired Samples T-Test for section B

3.3. Section C

The short version of the questionnaire gives a value of Crombach's α of 0.764, and the long version of 0.777. Both versions have an adequate degree of internal consistency and reliability, which was confirmed by Confirmatory Factor Analysis (*p*-value = <0.001), as can be seen from Table 5 below. The very good quality of the questionnaire is indicated by the RMSEA value of 0.0897. The questionnaire is therefore in order from the point of reliability and psychometric properties.

Factor	Indicator	Estimate	SE	Z	р
Factor 1	WDQ 45	0.617	0.0493	12.52	< .001
	WDQ 46	0.471	0.0543	8.67	< .001
	WDQ 47	0.519	0.0581	8.94	< .001
	WDQ 48	0.666	0.0569	11.71	< .001
	WDQ 49	0.716	0.0463	15.47	< .001
	WDQ 50	0.609	0.0426	14.29	< .001
Factor 2	WDQ 51	0.727	0.0502	14.49	< .001
	WDQ 52	0.942	0.0580	16.23	< .001
	WDQ 53	1.029	0.0553	18.60	< .001
Factor 3	WDQ 54	0.721	0.0545	13.21	< .001
	WDQ 55	0.927	0.0558	16.62	< .001
	WDQ 56	0.898	0.0592	15.16	< .001
Factor 4	WDQ 57	0.618	0.0621	9.95	< .001
	WDQ 58	0.967	0.0597	16.19	< .001
	WDQ 59	1.053	0.0556	18.92	< .001
	WDQ 60	1.133	0.0556	20.38	< .001
Factor 5	WDQ 61	0.881	0.0496	17.78	< .001
	WDQ 62	0.893	0.0487	18.34	< .001
	WDQ 63	0.852	0.0460	18.54	< .001

Table 5. Confirmatory Factor Analysis for section C

The established hypotheses (H0C and H1C) were verified based on the process of partial following steps, see Table 6. The normality test (Shapiro-Wilk) indicates that the data of the short version of the questionnaire does not have a normal distribution (p-value = 0.001). The long version of the questionnaire has a normal data distribution. Based on the non-normal distribution of the data in the short version, the Wilcoxon rank was used. The result indicates that the averages of both questionnaires are not the same (p-value = <0.001), therefore H0C at the 5% level of significance is rejected.

	Short version (C)	Long version (C)	
Mean	3.64	3.36	
Median	3.70	3.37	
Standard deviation	0.624	0.499	
Shapiro-Wilk W	0.987	0.996	
Shapiro-Wilk p	0.001	0.324	
Wilcoxon W	< .001		

Table 6. Descriptive statistics and Paired Samples T-Test for section C

4. Discussion

The standard length of the WDQ guestionnaire is set at 21 factors, which include 77 items (Morgeson & Humphrey, 2006). The length of time to complete it is estimated at 15 minutes (Morgeson & Humphrey, 2006), which, assuming it is aimed at the Baby Boomers, X or Y would seem to be perfectly fine (Bayona et al., 2015), not with Generation Z. Marcus et al. (2007) add that the aforementioned scope of the WDQ questionnaire is nowadays and completely inappropriate in relation to younger generations, and they recommend shortening it to the most important aspects related to job satisfaction. Research by Liu and Wronski (2018) showed that the unnecessary length of questionnaire surveys could have a negative effect on younger generations of the adequacy of data sample collection. One of the main features of members of Generation Z is a reduced ability to pay constant attention (Ding et al., 2017; Poláková & Klímová, 2019). This generation wants to have everything fast and now (Reinikainen et al., 2020). At the same time, they are also impatient and prefer quick information acquisition (Cruz, 2016). The SDT theory focuses on a person's internal motivation, which is greatly intertwined with work motivation. Based on SDT theory, this study tested the possibility of truncation by area of autonomy, competence, and relatedness (Legault et al., 2017; Greguras et al., 2014; Gatling et al., 2016). The formulation of SDT theory is rooted in the second half of the 20th century (Ryan & Deci, 2017; 2020). The research shows that even though this generation was not yet born at the time of the formulation of this theory, the reach and influence of the relatively old theory persists even today in various areas as. Artificial Intelligence (Xia et al., 2022), Education (Hosseini et al., 2022; Liu & Oga-Baldwin, 2022; Banerjee & Halder, 2021), Entrepreneurship (Bilal et al., 2021; Nazir et al., 2021), medicine (Duprez et al., 2021; Grønnegaard et al., 2020), travel-tourism (Buzinde, 2020) and many others. The proof is also the results of this research, applied to the WDQ questionnaire in sections A and B. By shortening the standard version of the questionnaire to a short version, it was possible to reveal that the questions included in the short version of the questionnaire carry the most important information. According to the aforementioned results, the questions that were purposefully omitted based on the possible shortening of the questionnaire are insignificant in the context of the targeted use of the questionnaire on generation Z. Specific questions that were not selected for the shortened version according to the SDT theory, do not even fit into the needs of generation Z according by Kubátová (2016), who claims that the priority for Generation Z is career growth, the need for money and meaningful work. The results obtained in the area of section C do not allow the questionnaire to be shortened according to the SDT theory. On the basis of the conducted tests, the central

importance of all the questions found in the long questionnaire in the field of social factors was proven. For generation Z, in the field of social characteristics, all sub-aspects are important, which are friends at the workplace, support in them, the interdependence of work with other colleagues, contact with them, and their interests. They also include cooperation outside the organization and feedback from colleagues. These results from specific areas such as making friends, contact with coworkers, and common interests with coworkers, provide some clarification compared to the inconsistent findings of previous research (Campione, 2015; Ng et al., 2010; Twenge, 2010).

Section C of the WDQ presents an opportunity for further possible research. The effort to shorten section C according to the SDT was unsuccessful because it was proven that all questions located in area C carry key information. The direction of future research could be towards a different theory, for example, Vroom's expectancy theory (Vroom, 1964; Marriner-Tomey, 2004), McClelland's theory (Harrell & Stahl, 1984), ERG theory (Aldefer, 1969). Or a theory that specifically deals only with social characteristics, according to which there could be an attempt to shorten section C. Another direction could be to find out whether, even for generations X and Y, it could come up with a proposal to shorten the questionnaire, and thereby support the theory that these generations are very different, or, on the contrary, disprove the theory.

A limitation of the research can be found in the size of the sample. Although the sample of 395 respondents can be considered representative, larger participation, and even more respondents would offer a greater informative value of the research. Limitations can also be found in possible inappropriate filling in of the questionnaire by some respondents. Assuming that the respondent was for example under stress, or for some other reason unable to adequately fill out the questionnaire. Although the survey was conducted in 2020, the results can still be considered current. At the time of publication of the results, no study was found that addressed the shortening of the WDQ questionnaire.

5. Conclusions

The study dealt with the identification of the possibility of shortening the WDQ questionnaire, based on the use of sub-areas of the SDT for the needs of generation Z. 395 respondents, residents of the Czech Republic born after 1995, were subjected to participation in the questionnaire survey. Respondents filled out the WDQ questionnaire with a standard range of 77 items, from which a second variant with a range of 31 items was extracted.

The results indicate that the WDQ questionnaire can be recommended for shortening in the area of autonomy (H_{0A}) and competence (H_{0B}). A relatedness section (H_{1C}) is not recommended for shortening. The Wilcoxon rank clearly confirms the different averages of the two questionnaires. All the questions included in section C are important and carry significant information.

The advantages of applying the shorter version of the questionnaire clearly outweigh any minimal risks. The most significant advantage of using a shorter version of the questionnaire survey is obtaining high-quality answers from respondents that will not be influenced or distorted by their fatigue or distraction. Acknowledgments: This publication was funded by The Internal Grant Agency of Faculty of Economics and Management CZU Prague (2022A0002).

Conflict of interest: none.

References

- Aldefer, C. P. (1969). An empirical test of a new theory of human needs. *Organizational Behavior and Human Performance*, 4(2),142–175. https://doi.org/10.1016/0030-5073(69)90004-X
- Banerjee, R., & Halder, S. (2021). Amotivation and influence of teacher support dimensions: A selfdetermination theory approach. *Heliyon*, 7(7), 2–11. https://doi.org/10.1016/j.heliyon.2021.e07410
- Baumgartner, H., & Steenkamp, J. B. E. M. (2001). Response Styles in Marketing Research: A Cross-National Investigation. *Journal of Marketing Research*, 38(2), 143–156. https://doi.org/10.1509/jmkr.38.2.143.18840
- Bayona, J. A., Caballer, A., & Peiró, J. M. (2015). The work design questionnaire: Spanish version and validation. *Revista de Psicología Del Trabajo y de Las Organizaciones, 31*(3), 187–200. https://doi.org/10.1016/j.rpto.2015.06.001
- Bennett, J., Pitt, M., & Price, S. (2012). Understanding the impact of generational issues in the workplace. *Facilities, 30*(7-8), 278-288. https://doi.org/10.1108/02632771211220086
- Berkup, S. (2014). Working with generations X any Y in generation Z period: Management of different generations in business life. *Mediterranean Journal of Social Sciences*, *5*(19), 218-229. https://doi.org/10.5901/mjss.2014.v5n19p218
- Bertolino, M., Angel, V., & Steiner, D. D. (2011). Traduction du Questionnaire sur les caractéristiques du poste de Morgeson et Humphrey (2006) [French Translation of the Work Design Questionnaire (WDQ) of Morgeson and Humphrey (2006)].
- https://www.psychologie.unifrankfurt.de/56107021/Bertolino_Angel___Steiner_French_version_of_WDQ.pdf
- Bilal, M., Chaudhry, S., Amber, H., Shahid, M., Aslam, S., & Shahzad, K. (2021). Entrepreneurial Leadership and Employees' Proactive Behaviour: Fortifying Self Determination Theory. *Journal of Open Innovation: Technology, Market, and Complexity, 7*(3), 176. https://doi.org/10.3390/joitmc7030176
- Borges-Andrade, J. E., Peixoto, A. L. A., Queiroga, F., & Pérez-Nebra, A. R. (2019). Adaptation of the Work Design Questionnaire to Brazil. *Revista Psicologia Organizações e Trabalho, 19*(3),720–731. https://doi.org/10.17652/rpot/2019.3.16837
- Buttita, M., Rousseau, A., & Guerrien, A. (2017). A new understanding of quality of life in children and adolescents with obesity: Contribution of the self-determination theory. *Current Obesity Reports, 6*, 432-437.
- Buzinde, C. N. (2020). Theoretical linkages between well-being and tourism: The case of self-determination theory and spiritual tourism. *Annals of Tourism Research*, *83*, 102920. https://doi.org/10.1016/j.annals.2020.102920
- Campione, W. A. (2015). Corporate offerings: Why aren't millennials staying? *The Journal of Applied Business and Economics*, 17(4), 60–75.
- Chen, B., Vansteenkiste, M., Beyers, W., Boone, L., Deci, E. L., Van Der Kaap-deeder, J., Duriez, B., Lens, W., Matos, L., Mouratidis, A., Ryan, R. M., Sheldon, K. M., Soenens, B., Van Petegem, S., & Verstuyf, J. (2015). Basic psychological need satisfaction, need frustration, and need strength across four cultures. *Motivation* and Emotion, 39(2), 216–236. https://doi.org/10.1007/s11031-014-9450-1
- Chen, C., Zhang, T., Gu, X., Lee, J., Ren, S., & Wang, H. (2019). Understanding adolescents' need support, need satisfaction, and health-related outcomes: A self-determination health behavior perspective. *International Journal of Environmental Research and Public Health*, *17*(1), 104. https://doi.org/10.3390/ijerph17010104
- Chillakuri, B. (2020). Understanding Generation Z expectations for effective onboarding. *Journal of Organizational Change Management*, 33(7), 1277–1296. https://doi.org/10.1108/JOCM-02-2020-0058
- Cruz, F. (2016). Generation Z's Teachers and their digital skills. *Media Education Journal*, 24, 97–105. https://doi.org/10.3916/C46-2016-10
- ČSÚ. (2020). Míry zaměstnanosti, nezaměstnanosti a ekonomické aktivity červenec 2020. [Data set]. https://www.czso.cz/csu/czso/cri/miry-zamestnanosti-nezamestnanosti-aekonomicke-aktivity-cervenec-2020
- Deci, E. L., & Ryan, R. M. (2000). The "What" and "Why" of goal pursuits: Human needs and the selfdetermination of behavior. *Psychological Inquiry*, *11*(4), 227–268. https://doi.org/10.1207/s15327965pli1104_01
- Ding, D., Guan, C., & Yu, C. (2017). Game-Based learning in tertiary education: a new learning experience for Generation Z. *International Journal of Information and Education Technology*, 7(2), 148.

- Duprez, V., Haerens, L., Wuyts, D., Verhaeghe, S., van Zanten, R., Massey, E. K., & van Hecke, A. (2021). Self-Determination Theory to observe healthcare professionals' counselling in chronic care encounters: Development of the COUNSEL-CCE tool. *Patient Education and Counselling*, 104(7), 1773–1780. https://doi.org/10.1016/j.pec.2020.12.002
- Fernández, M., Ramírez, R., Sánchez, J. C., Bargsted, M., Polo, J. D., & Ruiz, M. A. (2017). Spanish-Language Adaptation of Morgeson and Humphrey's Work Design Questionnaire (WDQ). *The Spanish Journal of Psychology*, 20(28), 1–30. https://doi.org/10.1017/sjp.2017.24
- Gagné, M., Forest, J., Vansteenkiste, M., Crevier-Braud, L., Van den Broeck, A., Kristin-Aspeli, A., & Westbye C. (2015). The multidimensional work motivation scale: Validation evidence in seven languages and nine countries. *European Journal of Work & Organizational Psychology*, 24(2), 178–196. https://doi.org/10.1080/1359432X.2013.877892
- Gatling, A., Kim, J. S., & Miliman, J. (2016). The relationship between workplace spirituality and hospitality supervisors' work attitudes: A self-determination theory perspective, *International Journal of Contemporary Hospitality Management*, *28*(3), 471–489. https://doi.org/10.1108/IJCHM-08-2014-0404
- Gorgievski-Duijvesteijn, M., Peeters, P., Rietzschel, E. F., & Bipp, T. (2016). Reliability and validity of the Dutch translation of the work design questionnaire. *Gedrag En Organisatie: Tijdschrift Voor Sociale, Arbeids-En Organisatie-Psychologie, 29*(3), 273–301.
- Greguras, G. J., Diefendorff, J. M., Carpenter, J., & Tröster, C. (2014). Person-environment fit and selfdetermination theory. *The Oxford handbook of work engagement, motivation, and self-determination theory*, 143– 161. https://doi.org/10.1093/oxfordhb/9780199794911.013.002
- Grønnegaard, C., Varming, A., Skinner, T., Olesen, K., & Willaing I. (2020). Determinants of glycaemic control among patients with type 2 diabetes: testing a process model based on self-determination theory. *Heliyon*, *6*(10), 2–6. https://doi.org/10.1016/j.heliyon.2020.e04993
- Harrell, A. M., & Stahl, M. J. (1984). McClelland's trichotomy of needs theory and the job satisfaction and work performance of CPA firm professionals. *Accounting, Organizations and Society, 9*(3–4), 241–252. https://doi.org/10.1016/0361-3682(84)90010-2
- Hosseini, L. J., Rafiemanesh, H., & Bahrami, S. (2022). Levels of motivation and basic psychological need satisfaction in nursing students: In perspective of self-determination theory. *Nurse Education Today, 119*, 105538. https://doi.org/10.1016/j.nedt.2022.105538
- Humphrey, S. E., Nahrgang, J. D., & Morgeson, F. P. (2007). Integrating motivational, social, and contextual work design features: A meta-analytic summary and theoretical extension of the work design literature. *Journal of Applied Psychology*, *92*(5), 1332–1356. https://doi.org/10.1037/0021-9010.92.5.1332
- Jamovi. (2022). Analyses. https://docs.jamovi.org/_pages/um_3_analyses.html
- Krosnick, J. A. (1999). Survey Research. *Annual Review of Psychology*, *50*(1), 537–567. https://doi.org/10.1146/annurev.psych.50.1.537
- Kubátová, J. (2016). Work-Related Attitudes of Czech Generation Z: International Comparison. *Central European Business Review*, *5*(4), 61–70. https://doi.org/10.18267/j.cebr.167
- Legault, L., Ray, K., Hudgins, A., Pelosi, M., & Shannon, W. (2017). Assisted versus asserted autonomy satisfaction: Their unique associations with wellbeing, integration of experience, and conflict negotiation. *Motivation and Emotion*, *41*(1), 1–21. https://doi.org/10.1007/s11031-016-9593-3

LimeSurvey (2022) Free university survey & university questionnaires. https://www.limesurvey.org/solutions/universities

Lissitsa, S., & Kol, O. (2016). Generation X vs. Generation Y–A decade of online shopping. *Journal of Retailing and Consumer Services*, *31*, 304–312. https://doi.org/10.1016/j.jretconser.2016.04.015

- Liu, M., & Oga-Baldwin, W. L. Q. (2022). Motivational profiles of learners of multiple foreign languages: A selfdetermination theory perspective. *System*, *106*, 102762. https://doi.org/10.1016/j.system.2022.102762
- Liu, M., & Wronski, L. (2018). Examining Completion Rates in Web Surveys via Over 25,000 Real-World Surveys. *Social Science Computer Review*, *36*(1), 116–124. https://doi.org/10.1177/0894439317695581
- MacKenzie, S. B., & Podsakoff, P. M. (2012). Common Method Bias in Marketing: Causes, Mechanisms, and Procedural Remedies. *Journal of Retailing*, *88*(4), 542–555. https://doi.org/10.1016/j.jretai.2012.08.001
- Marcus, B., Bosnjak, M., Lindner, S., Pilischenko, S., & Schütz, A. (2007). Compensating for Low Topic Interest and Long Surveys: A Field Experiment on Nonresponse in Web Surveys. *Social Science Computer Review*, 25(3), 372–383. https://doi.org/10.1177/0894439307297606
- Morgeson, F. P., & Humphrey, S. E. (2006). The Work Design Questionnaire (WDQ): Developing and validating a comprehensive measure for assessing job design and the nature of work. *Journal of Applied Psychology*, *91*(6), 1321–1339. https://doi.org/10.1037%2F0021-9010.91.6.1321

Marriner-Tomey, A. (2004). Guide to nursing management and leadership. Mosby, St. Louis, 7.

- Nazir, O., Islam, J. U., & Rahman, Z. (2021). Effect of CSR participation on employee sense of purpose and experienced meaningfulness: A self-determination theory perspective. *Journal of Hospitality and Tourism Management*, *46*, 123–133. https://doi.org/10.1016/j.jhtm.2020.12.002
- Ng, E. S. W., Schweitzer, L., & Lyons, S. T. (2010). New generation, great expectations: A field study of the millennial generation. *Journal of Business and Psychology*, *25*(2), 281–292. https://doi.org/10.1007/s10869-010-9159-4
- Parment, A. (2013). Generation Y vs. Baby Boomers: shopping behavior, buyer involvement and implications for retailing. *Journal of Retailing and Consumer Services*, 20(2), 189–199. https://doi.org/10.1016/j.jretconser.2012.12.001
- Podsakoff, P. M., MacKenzie, S. B., Lee, J. Y., & Podsakoff, N. P. (2003). Common method biases in behavioral research: A critical review of the literature and recommended remedies. *Journal of Applied Psychology*, *88*(5), 879–903. https://doi.org/10.1037/0021-9010.88.5.879
- Poláková, P., & Klímová, B. (2019). Mobile Technology and Generation Z in the English Language Classroom A Preliminary Study. *Education Sciences*, 9(3), 203. https://doi.org/10.3390/educsci9030203
- Procházka, J., Bílovská, K., Ťápal, A., Fejfarová, M., & Vaculík, M. (2020). Dotazník designu pracovní pozice (WDQ): Validační studie českého překladu (Work Design Questionnaire (WDQ): Validation study of the Czech version). Československá psychologie., 64(2),168–183.
- Reinikainen, H., Kari, J. T., & Luoma-Aho, V. (2020). Generation Z and organizational listening on social media. *Media and Communication*, 8(2), 185–196. https://doi.org/10.17645/mac.v8i2.2772
- Ryan, R. M., & Deci, E. L. (2006). Self-regulation and the problem of human autonomy: Does psychology need choice, self-determination, and will? *Journal of Personality*, 74(6), 1557–1586. https://doi.org/10.1111/j.1467-6494.2006.00420.x
- Ryan, R. M., & Deci, E. L. (2017). Self-determination theory: Basic psychological needs in motivation development and wellness. Guilford Press.
- Ryan, R. M., & Deci, E. L. (2020). Intrinsic and extrinsic motivation from a self-determination theory perspective: Definitions, theory, practices, and future directions. *Contemporary Educational Psychology*, *61*, 101860. https://doi.org/10.1016/j.cedpsych.2020.101860
- SPSS Statistics. (2022). What's new in versions 28 and 28.0.1. IBM. https://www.ibm.com/docs/en/spss-statistics/28.0.0?topic=overview-whats-new-in-version-28
- Stegmann, S., Dick, R., Van Ullrich, J., Charalambous, J., Menzel, B., Egold, N., & Wu, T. T. C. (2010). Der Work Design Questionnaire. *Zeitschrift Für Arbeits-Und Organisationspsychologie A&O*, *54*(1),1–28. https://doi.org/10.1026/0932-4089/a000002
- Twenge, J. M., Campbell, S. M., Hoffman, B. J., & Lance, C. E. (2010). Generational differences in work values: Leisure and extrinsic values increasing, social and intrinsic values decreasing. *Journal of Management, 36*(5), 1117–1142. https://doi.org/10.1177/0149206309352246
- Van der Goot, M., Rozendaal, E., Opree, S. J., Ketelaar, P. E., & Smit, E. G. (2016). Media generations and their advertising attitudes and avoidance: a six-country comparison. *International Journal of Advertising*, *37*(2), 289–308. https://doi.org/10.1080/02650487.2016.1240469
- Vroom, V. (1964). Work and motivation. Wiley.
- Xia, Q., Chiu, T. K. F., Lee, M., Sanusi, I. T., Dai, Y., & Chai, C. S. (2022). A self-determination theory (SDT) design approach for inclusive and diverse artificial intelligence (AI) education. *Computers & Education, 189*, 104582. https://doi.org/10.1016/j.compedu.2022.104582